
Example : 200 students . 40 take English , 50 take Math,
to take both . What is the probability that a student
randomly drawn from the meth class is in English?

Total choices : 50 students
→ = o
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# of those in English : 10 students
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Intuition : We are restricting the sample space to M
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'
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Def : E and F events in sample space S
,
with P(F) to

The conditional probability of E given F is

PIER f) = HENRIPCF)
In equally likely events , we

here PCEIff NIF
)

nCF )



Example :
a) Student selected from English class

.

Whet is the

prob that they're in Meth?

PGA E) = nlnY£# = 1¥ -
- 0.25

b) student selected from English class .

What is the

prob that they're not in math?

Pfm't E) = nlII = ? = 0.75
,

Another way : PCM
' (E) =/ - p (Ml E) = I - 0.25

)



c) Student selected from English class . What is the
prob that they're in English?

MEI E) = Nn% = If =/

In general , Pff I F) =/ for any event
F

Properties of pgeyr.gl?ssumiyP(
F)⇒o)

i) PCE 't F) = I - PCEIF )

ii ) P ((AuB)IF ) =p(AIF ) + PCB IF)
-PHA -B) IF )



Multiplication Rule
-

PCE tf) = Pkn
F)

E- PF= PCF ) . PCE tf )
New way to ampule prob of
intersections

Example : Two cards from a deck , no replacement. What is
the prob that we draw ace first , then king?

Place 1st n king 2nd) = place 1st ) . p( king 2nd face 1st)
-

f = once 1st
= ¥2 .¥ =↳

E- king second


